Find the value of y.

1.3y =27
2.9y = 81
3.12y =132
4.6y=72
5. 20y =120

6.15y =75

7.10y = 160

8.9y =72
9.11y = 88

10. 4y = 36

Worksheet 1

11. 5y + 15 =65
12. 9y + 20 = 83
13.7y+9 =44
14 4y + 18 = 34
15. 6y + 40 = 100
16. 12y - 15 =45
17.8y - 22 =42
18. by - 8 = 27
19. 11y - 13 = 53

20.3y - 24=0
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Y has been replaced with its answer.

11.5x10+15= 65

1.3 x9=27
2.9x9=81
3.12 x 11 =132
4 6x12=72
5.20 x 6 =120
6.15x5=75
7.10 x 16 = 160
8.9x8=72
9.11x 8 =88

10.4x9=36

Worksheet 1

12.9x7+20=283
13.7x5+9=44
14 4x4+18=34
15.6 x 10 + 40 = 100
16.12 x5 -15=45
17.8 x 8 - 22 =42
18.5x7-8=27
19.11x6-13=53

20.3x8-24=0




